
 SBIOA SENIORY SECONDARY SCHOOL, TRICHY -7 

STD: 1                                 Mathematics                                  Worksheet no:2  

Name:  _______.               Date: 28 5 2020 .                              Day: Thursday. 

I  Circle the smaller number: 

    7  ,         9   11 ,     17             14 ,      9              16  ,   11               5  ,     15                 

  13  ,        4              15  , 18               10,     20   6,       4 9 ,       12 

 

II  Tick the bigger number:                  

  17 ,     20                         12  ,    19                  14  ,  11   17 ,  7  2  ,  13 

  12,    17  19  ,   9 18,    8 16,   19 20 ,  14 

 

III  Circle the smallest number: 

  7 ,  3,  9   12 ,  17,  10  19 , 3 ,  9  12 ,  10,  14 18 , 20  , 7 

  3  , 7 ,  10   9,  12 ,  7  14 , 8 ,  11  10 , 20 , 12   14,  2 ,  12 

 

IV  Tick the biggest number: 

 12 , 3,  17  14 , 9  ,  11  10 , 8,  17 15 , 9, 14 2, 9 , 4 

 

V  Use    <   or   >     or    =    sign suitabley.            

           

                                                               

 

 

 

  

 

12  16 

  17  9 

eight  8 

16  9 

14  20 

  7  seven                                             

19  15 

10  6 

8  18 

2tens  20 

6  6ones 

 17  12 

2 tens  20 

2 tens  2ones 

10+4   10+7 



VI   Write in ascending order:( smaller number to greater number ): 

2, 10, 16, 19   8 ,  2,  16,  13   10 ,  9,  14,   3 

Ascending order is; 

 

 

Ascending order is; 

 

Ascending order is; 

 

Descending order is : 

 

 

Descending order is : 

 

Descending order is : 

 

   

  15, 9, 12,  14   14,  16,  8,  10 8 , 5,  12,  10 

 Ascending order is: 

 

 

Ascending order is; 

 

Ascending order is; 

 

Descending order is : 

 

 

Descending order is : 

 

Descending order is : 

 

   

VII Write 2- multiplication table – three times: 

  Table -2 Table -2  Table - 2 

   

   

   

   

   

   

   

   

   

   

 

VIII Match the correct answer: 

 2  x    5     =                    6 2  x  1   =                       4 

2   x    3     =                         14                                       2  x  4  =                      16 

2  x    7      =                         20 2  x  2  =                      12 

2  x    9     =                            8 2  x  8  =                        2 

2  x    10   =                          10 2  x  6  =                        8 

 


